Code No. 1528

CLASS : 11th (Eleventh) Series : 11-April/2021
Rolt No.[_|[_| [ ]
RG]
PHYSICS
[ B oo ok me |

[ Hindi and English Medium |
(Only for Fresh/School Candidates)

q9q: 24 g92 ] ' [ g% : 70
Time allowed : 2% hours | [ Maximum Marks : 70

o T AT I T 59 g 7 5B 7T 16 7 597 13 &

Please make sure that the printed pages in this question paper are 16 in number
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The Code No. on the top of the question paper should be written by the candidate
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strike the written answer.
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Before answering the question, ensure that you ff%?ue been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
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General Instructions :
(i) All questions are compulsory.
(i) This question paper consists of 13 questions which are divided into four
Sections A", 'B’, 'C' and 'D’:
Section ‘A’ : Question No. 1 of this Section has thirty five (1-35) Objective

Type Questions. Each question carries 1 mark.

Section 'B': This Section contains five questions from Question Nos. 2 to 6,
each of 2 marks.

Section 'C' : This Section contains five questions from Question Nos. 7 to
11, each of 3 marks.

Section 'D’' : This Section contains two questions from Question Nos. 12 &
13, each of 5 marks.

(it} There is no overall choice. However, an internal choice has been provided in
both two questions of 5 marks. You have to attempt only one of the given
choice in such questions.
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SECTION - A

(s )

(Objective Type Questions)

e (o 1 & 18) : ﬁﬁ#ﬂ@mwvﬁﬁaﬁaﬁ%a@w@mﬁ:

Direction (Q. 1 to 18) :
question :

1.

1528

(1)

(2)

(3)

Select the most appropriate option from those given below

= # @ e e R

(A) AR (B) ¥
(C) = (D) are
Which of the following is net Fundamental Unit ?
(A) Ampere (B) Second
(C) Mole (PT Watt

Th O B GO WO 7 2% H Y B B w4 F g B aRed F i g
a2rft . _ 1

(A) 1% | (B) 2%
(C) 3% | (DY7 6%

There is an error of 2% in the measurement of side of a cube. The
percentage error in the calculation of its volume of the sphere will be :

[A] 1% (B) 2%

(C) 3% ®) 6%

Rty g [MLT™!] &% & & 1
) = B Twarpt@d v

(C) wf (D) Ha &

The dimensional formula '[ML'I"'I] represents :

(A) Force . (B) Torque

(C) Power (DY Momentum

P.T.O.
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(C) %ﬂ (D) =

A particle completes semicircular path of radius r. The ratio of distance

travelled and displacements of particle will be :

EL! "
® 7 AB) S
© = o
(5) @nﬁﬁﬁammmaﬁmﬂgﬂaﬂ#:‘ammﬁ@mu%aﬁ%mﬂmﬁf%,
ar FOT WA 1
(A) T W B (B) W€ @ ¢
C ¢I® | Oy fa®

The distance travelled by a particle is directly proportional to the square
of the time taken, the acceleration of the particle is :

(A) Increasing (B) Decreasing
(C) Zero (D) Constant
6) m SHAM W TF Mrs r Bow & g9 W GHEEN AW v ¥ T W 8 e W
A= &7 & ¢ 1
2
JA) m::' | (B) muvr
(c v mv
(D) —

r
r
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A body of mass m is moving on a circle of radius r with uniform speed v.
The centripetal force on body is :

2

mv
(A) r (B) mvr
© == o ™

(7) = ¥ ol R B
\N/E& (B) R

(C) = (D) @R

Which of the following is scalar quantity ?

(A) Distance (B) Displacement
(C) Force (D) Acceleration

(8) o TG A T B B N B 2 I T 10 R B AN A wF @ T A
TREE ¥ AT BD RN H I G 1
(A) 1:1 @ 1:5
(cj 5:1 (D) 1:25

Two objects A and B of masses 2 kg and 10 kg respectively are moving

with same velocity. The ratio of their momentum will be :

(a) 1:1 . B) 1:5
S (C) 5:1° (D) 1:25
9) - g7 ST ® 7 | 1
(a) Dfes T @Y A
(C) TRWT T (D) % T

P.T.C.
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Which friction is maximum ?
(A) Static Friction (B) Limiting Friction
(C) Kinetic Friction (D) None
(10) 9§97 59 8 °
(A) TH ERI T
(B) TF BLH I«
(C) T TN
(D) o= &q
Friction force is :
(A) a conservative force
(B) pseudo force
‘_}éj a non-conservative force
(D) centripetal force
(11) Yofd: 37y |9 § 89 ¥
(A) o wd AT Foit QA SRR
(B) e O TR S A STERR
(C) I TR T R i TR
(D) ¥ RRRE o TR S\
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In perfect inelastic collision :

(A) Both Momentum and K. E. are conserved

(B) Both Momentum and Kinctic Energy are not conserved

,(2/ Momentum is conserved and Kinetic Energy is not conserved

(D) Momentum is not conserved and Kinetic Energy is conserved

(12) %M M T B R & 3 O & o6 @ & o Tee-om € 1
(A) 2MR2 B) 2MR>
3 5
3,.,,2 T o2
(C) gMR D) gMR

If mass M and radius of solid sphere is R, then moment of Inertia about
diameter 1s :

N 202
(A) %—MRQ VR
7 2
ZMR
() %MRZ W 5

(13)qﬁmm%qﬁa:aﬁmaﬂmﬁgﬂﬁﬁi@mﬂwaﬂv%m: 1

A v-ra @/u=rm

D), r=vo

P.T.O.
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(15)
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The linear velocity v of a body rotating about an axis with angular velocity

o, then :
(A) v=ra B) v=r
(C) w=vr (D) r=vo

% Rve @@ o § 9H & TEEmT &3 vae wXal 3 gE-ues e 3

Rafeer = - 1
(a)

B) W

(C) eTURaRid &

(D) SWE ¥ ¥ I T&

A body enters in the gravitational field of the earth from external
atmosphere. The potential energy of the Earth-body system :

(A) will increase
(g(‘ will decrease
(C) will remain unchanged

(D) None of the above

Tl 3% a%g & fe S-S ot & A & - | :
(A) ™ | Jé} AT
€ 1 : (D) 100
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The value of Young's Modulus of Elasticity for a perfectly rigid body is :

(A} Zero (B) Infinite

€ 1 (D) 100
(16) aft e o & wohn N o Frem B, @ ST S 1

A} TGS
(B) HHaME™
C) T&™
(D) TR

If a process takes place in a system at a constant volume, the process is
known as :

(A) Isochoric
(B) Isothermal
(C) Adiabatic

(D) Isobaric .

(17)@@?%%@%%&3#%%@?&3@3@%: 1
@) ~° B) T
T

9/ T o) T2

1528 P.T.O.
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The mean kinetic energy of a molecule of any gas at absolute temperature
T is proporticnal to :

1
A = (B) T
C T (D) T2

(18) Y@ HAEd Mo HQ gL 6l FH91 & IFEdd o 2 1
(A) T=2n1Jiawmi” B T=2nf g
(C) T=2n ﬁaﬁ (D) T =2ng x R

The time period of a particle executing simple harmonic motion is :

L/T _ 2n\/D1sp]aCCmEnt (B) T — Qﬁ : g
Displacement

Acceleration

) T =2n | Toociy (D) T =2ngx Displacement
Displacement.

s (o 19T 27) atzgaﬁaﬁ?#ﬁwwas?gﬁ%q:
Direction (Q. 19 to 27) : Fill in the blanks with appropriate answer :

(19) veerreenn, 2 Mg § @ QAW & T B TR wmmm ey oy

............... is defined as the mass of a Platinum-Iridium cylinder kept in

1528



1528

(20)

(21)

(22)

(23)

(24)

(25)

(26)

(11) 152345

Rt RPN Swer s &
1

The angles of project:
Projection for which a projectile covers the same horizontal
range, are 30° and ...

S TS ST 3RS G G ... F R P o T B

By using Ball Bearings, sliding friction can be converted into
friction.

---------------

Rl T & PR B B D TR G B e Fed 2 1
The ...M‘.—V(of a body is defined as its capacity of doing work.

Favs # @ F TR F IOE G H B AT SR ot w & W wdend
STEET T B eveennennnen Feq Bl 1

In the universe each particle of matter attracts every other particle. This
universal attractive force is callec

ﬁa%%%mﬁ-ﬁg%m%g@mﬁﬁmﬂ-@wm%w
wa%wzﬁﬁﬁnﬁﬂﬁ-ﬁ@%ﬁﬁﬂﬁmﬁﬁﬂaﬁwaﬂ%m

.............. wEq B 1

The angle inside the liquid between the tangent to the solid surface and

the tangent to the liquid gurface at the point of co{ntact s cal}cd

for that pair of solid and liquid.

.............. o w1 1 S8 oo 3 T 8 1
Joule of work is equivalent to 1 calorie of heat.
mﬁﬁwm%@mﬂmﬁﬁﬁaﬁﬁw .............. e
Th b f degrees of freedom of a molecule of a monoatomic gas
€ muimber 0O : )
o P.T.0.
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{27)w®§aﬁmwﬁéwmwmarwﬁﬁmamm
ERL Lo L ey A B ¥ %1

When a body being acted by an external periodic force, vibrates with th
1 . [§]

frequency of the force, then the vibrations of the body are called
¢

vibrations.

--------------

Direction (Q. 28 to 35) : Answer the following :

(28) 2 B GRW A B oW m ¥ Tow Rem om, & aRomh wRer @ @ ?
' ; ! 1

.-.)
If a 1 ipli
vector A is multiplied by a scalar m, what will be the result
ant

vector ?
29 ;
(29) W gy ories e WAfRws w¥r Pror F gy gy R ?
What is relation b 1
etween coefficient i ot
friction ient of static friction and the angle of

(B0) C.G.s. w5ft & od o 9 7 B 7
1

What : o
hat is unit of work in C. G. S. system ?

(31 Wﬁﬁmﬁm%m@m.
1

Write do
wn th
e formula for work done in rotatory motion.

(32) LT S0t a1 R ey o B 7 1

What is time wpr:
€ Period of Geo-stationary Satellite ?
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33) TF 3G :
(33) W%Wi@ﬂww(mmwmgﬂﬁmﬁﬂw%ﬁm

1

Write relati i
ation between coefficient of linear expansion («) and coefficient of
volume expansion (1 of a solid material.

(34) 19 o Wi Frea B 100 S@ FoT & A B, A =RF et 30 @ G A
% PeEg a0 Fa w1 s S

1

When 100 Joule of heat is given to a gaseous system, then internal energy

increases by 30 Joule. Find the work done by the system.
(35) WY@ omad TR @ WHET y = 5 sin 200t &1 e F AAT H AN SR 1

The equation of a simple harmonic motion is y = 5 sin 200t. Give value of

amplitude of oscillation.
gus - §
SECTION -B
(arfx g Swha we)
(Very Short Answer Type Questions)

Z.Wﬁﬁﬁtﬂxﬁ?qﬁﬁma,b@‘c%ﬁﬂmmﬁﬁ%: 2

a3bz
C

X =

a, b T c B TG F HAW 1%,2,%m3%ﬁ3%ﬁ%1mx%mﬁwﬁﬁw
s e T@ AT

a’p? .
and the percentage errors in the

If a physical quantity is X=

. measurement of a, b and ¢ are 1%, 2% and 3% respectively. Rind the
maximum percentage error in the measurement of physical quantity X.

1523 p. T\ 0\
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8.

9.
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- % A pud - - -
. @ F=0i+4j-5k F H Rem S -5744548k T g

it &1
%laﬁmﬁmmfl L. - 2
: F=3i+4j-5k on a particle produces displacemen;

The applied force done by the f

§:55+4f+315. Calculate work done by the force.

qregd @ g SR 2

Write Pascal's Law. |

Yt 3 s Riera @ WREe ke 2

Write down the postulates of Kinetic theory of gases.

T g M FQ g R F @ o @o-wm 9 it 2

Draw acceleration-time graph of a particle executing simple harmenic motion. .

s - | :

SECTION - C S
(7 St )

(Short Answer Type Questions)

T T 4R & 0 BT W w AT Y gt B e A F B o ¥ AW 3 W AW
3 R v o &% 3

A projectile is thrown at an angle 8 from the horizontal with velocity u under
the gravitational field of Earth. Find expression for time of flight.

W T D P R L | 3
State the laws of Limiting Friction,
- .
@W%W%%mmmmmﬂﬁwﬁ 3
Obtain e i ntre ' ‘
Xpression for the centre of mass of a system consisting of two

particles.
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10. FEAME & fada Fram & aren #fw

Explain, Second Law of Thermodynamics.

11. 9 & Rvg & qemee 3 & g ora ik

Obtain the formula for the escape velocity of a body from the Earth.

gug - §
SECTION -D

(& slg ue)

(Long Answer Type Questions)

12. IE H TG B [ R faE w1

State and prove Bernoulli's theorem.

G|

OR

w%m%ﬁmaﬁﬁt@eﬂtﬁmaﬁl

State and prove Newton's Law of Cooling.

13. W Ao 3 AEE B Rg s A< BT

1528

Obtain an expression

for the time-period of a simple pendulum.

1528
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OR

Rz TR B Ry J9ve o= e @ dem X i Sk B sIREl $ o) @ aEt
2Rl 31

Prove that the number of beats heard per second is equal to the difference in

frequencies of two sound sources.
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